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Deskriptivna statistika ukupnog rezultata

PARAMETAR VRIJEDNOST

N 15896 (58%)

k 69

M 65,0

SD 19,17

Standardna pogreška 5,07

Medijan 68,4

Raspon 0 – 98,2

Maksimum 100

Postoci 25 53,8

50 68,6

75 79,5

Cronbachov α 0,93



Deskriptivna statistika ukupnog rezultata 
(ponderiranog)



Deskriptivna statistika ukupnog rezultata



Ocjena 1 2 3 4 5

Prag - 41 56 71 86

% 12,4 14,2 25,2 36,1 12,1



• 1 faktor koji objašnjava oko 20% varijance



Deskriptivna statistika za esej

PARAMETAR VRIJEDNOST

N 15896

PL 344 (2,2%)

M 14,3

SD 4,11

Medijan 15

Raspon 0 (2,5%) – 20 (5,1%) 

Percentili 25 12,5

50 15

75 17



Deskriptivna statistika za esej



Deskriptivna statistika za esej

Parametar Kriterij A Kriterij B Kriterij C Kriterij D

N 15896 15896 15896 15896

M 3,5 3,4 3,7 3,7

SD 1,23 1,07 1,08 1,10

Medijan 4 3 4 4

Minimum 0 (4,2%) 0 (2,6%) 0 (2,5%) 0 (2,6%)

Maksimum 5 (17,3%) 5 (12,8%) 5 (17,4%) 5 (19,7%)



Deskriptivna statistika za esej –
slaganje među ocjenjivačima 

Kriterij Kappa

A1 0,63

A2 0,63

A3 0,60

A4 0,61

Parametar Vrijednost

Korelacija između dva ukupna rezultata 0,94 (88%)

% učenika kod kojih je neslaganje jednako ili 
vede od 10% 7,5%

Prosječna razlika između dva ocjenjivača u 
bodovima 0,8



Težina zadatka Redni broj zadataka

Vrlo težak (0 – 0,2) 13, 36, 40, L11  

Težak  (0,21 – 0,4) 15, 16, 32, 38, L4

Srednje težak  (0,41 – 0,6) 
4, 17, 20, 22, 23, 24, 31, 33, 

35, 37, 39, L7, L25

Lagan (0,61 – 0,80) 

2, 3, 5, 6, 10, 14, 18, 19, 21, 
25, 26, 30, 34, L2, L5, L6, L10, 

L13, L20, L21, L23, L24,
A, B, C, D

Vrlo lagan (0,81 – 1) 
1, 7, 8, 9, 11, 12, 27, 28, 29, 
L1, L3, L8, L9, L12, L14, L15, 

L16, L17, L18, L19, L22   
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For questions 1-12, choose from the people 
A-F. Mark the correct answer on your answer 
sheet.
1. saw the game on TV?

M 0,86

M (O) 0,70

ID 0,34



2. Was injured?

M 0,63

M (O) 0,70

ID 0,56



3. Thinks he was treated unfairly?

M 0,68

M (O) 0,70

ID 0,38



4. Arrived late?

M 0,44

M (O) 0,70

ID 0,41



5. Got lost?

M 0,65

M (O) 0,70

ID 0,54



6. Felt nervous?

M 0,69

M (O) 0,70

ID 0,41



7. Argued with the referee? 

M 0,81

M (O) 0,70

ID 0,49



8. Won a cup?

M 0,90

M (O) 0,70

ID 0,26



9. Does not like to remember the game?

M 0,86

M (O) 0,70

ID 0,40



10. Feels differently about the event now?

M 0,62

M (O) 0,70

ID 0,52



11. Learned a lesson?

M 0,86

M (O) 0,70

ID 0,44



12. Felt ashamed?

M 0,83

M (O) 0,70

ID 0,49



For questions 13-18, choose the
answer (A, B, C or D) that fits best according 
to the article.
13. the Stimsons decided to move to the
country because

M 0,18

M (O) 0,70

ID 0,15



14. Patricia and Robert met

M 0,63

M (O) 0,70

ID 0,38



15. At the moment, Patricia

M 0,37

M (O) 0,70

ID 0,35



16. The Pritchards

M 0,29

M (O) 0,70

ID 0,20



17. What Patricia misses most about her life 
in London is

M 0,52

M (O) 0,70

ID 0,45



18. The Pritchards may return to London

M 0,68

M (O) 0,70

ID 0,39



Choose from the sentences A-H the one which
fits each gap (19-24).(19) ____ Therefore, you 
need to think about 

M 0,69

M (O) 0,70

ID 0,42



20. (20) ____ Ask yourself: what exactly do I 
have to write about? 

M 0,57

M (O) 0,70

ID 0,53



21. (21) ____ You won’t get a good mark if 
you are off-topic.

M 0,65

M (O) 0,70

ID 0,50



22. (22) ____ You need to answer all three
parts of the question.

M 0,45

M (O) 0,70

ID 0,39



23. (23) ____ So pay attention to your 
paragraph construction. 

M 0,60

M (O) 0,70

ID 0,42



24. (24) ____ Indeed, if you think of one 
when writing a paragraph and you put it in,

M 0,55

M (O) 0,70

ID 0,46



For questions 25-32, choose the answer
(A, B, C or D) 
25. The British lion is the animal which (25) 
____ for England

M 0,71

M (O) 0,65

ID 0,46



26. The sketches he wrote (26) ____ with the 
political affairs of Europe …

M 0,63

M (O) 0,65

ID 0,48



27. …(27) ____ the time, and the countries 
were made to appear 

M 0,85

M (O) 0,65

ID 0,27



28. During the Napoleonic Wars, John Bull 
became the national (28) ____ of freedom,

M 0,89

M (O) 0,65

ID 0,17



29. John Bull was a man of very good nature 
but he was very (29) ____ to deal with,

M 0,92

M (O) 0,65

ID 0,33



30. on the other hand, (30) ____ with 
kindness and a little flattery,

M 0,74

M (O) 0,65

ID 0,45



31. (31) ____ frequently used through World 
War II, …

M 0,50

M (O) 0,65

ID 0,34



32. …John Bull has been seen less often
(32) ____ the 1950s.

M 0,35

M (O) 0,65

ID 0,09



Fill each space (33-40) with one word.
33. They rush home and expect to
(33) ___________ asleep instantly.

M 0,51

M (O) 0,65

ID 0,48



34. ‘Your body needs at (34) ________ thirty 
minutes to calm down’, says Dr Gordon.

M 0,62

M (O) 0,65

ID 0,55



35. Studies reveal that over six million 
people suffer (35) ___________ sleeping 
problems 

M 0,54

M (O) 0,65

ID 0,52



36. It has been proved that there is a higher 
mortality
(36) ___________ among people who 

M 0,11

M (O) 0,65

ID 0,34



37. Losing sleep affects not only your ability 
to learn (37) _________ also your memory 

and mood.

M 0,54

M (O) 0,65

ID 0,54



38. One study showed that cutting down
(38) ___________ the standard eight hours 
of sleep to four, 

M 0,26

M (O) 0,65

ID 0,40



39. Also, it drives up your blood pressure and 
increases (39) ___________ risk of heart 
attack.

M 0,56

M (O) 0,65

ID 0,49



40. Try keeping a sleep diary for two weeks 
to find out (40) ___________ lifestyle 

problems may lie.

M 0,16

M (O) 0,65

ID 0,31
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M
3,48

(0,70)

ID 0,65

ESEJ, KRITERIJ A



M
3,34

(0,67)

ID 0,66

ESEJ, KRITERIJ B



M
3,68

(0,74)

ID 0,75

ESEJ, KRITERIJ C



M
3,69

(0,74)

ID 0,76

ESEJ, KRITERIJ D
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Questions 1-5
For each recording, decide what the main 
problem area (from A to H) for each person 
is.
1. 

M 0,85

M (O) 0,75

ID 0,25



2. 

M 0,72

M (O) 0,75

ID 0,47



3. 

M 0,86

M (O) 0,75

ID 0,27



4. 

M 0,38

M (O) 0,75

ID 0,36



5. 

M 0,77

M (O) 0,75

ID 0,50



For each situation (6-13), choose the correct 
answer, A, B or C.
6. You hear Mark talking to a friend about a 
film. What does he think about the film?

M 0,65

M (O) 0,70

ID 0,47



7. You hear a student talking about his 
studies. What does he say his main problem 
is?

M 0,53

M (O) 0,70

ID 0,22



8. You hear Emma talking to a friend. How 
does she feel about her test result?

M 0,86

M (O) 0,70

ID 0,30



9. You hear a musician talking on the radio.
Why did he start playing the guitar?

M 0,94

M (O) 0,70

ID 0,37



10. You hear David talking to a friend about 
his studies. What does he think about his 
lectures in Finance?

M 0,65

M (O) 0,70

ID 0,37



11. You hear a tourist guide talking to a group 
of tourists. What is her main purpose?

M 0,18

M (O) 0,70

ID 0,11



12. You hear two friends talking.
What is the main topic of their conversation?

M 0,84

M (O) 0,70

ID 0,18



13. You hear Pat talking about living in 
London. How does she feel about living 
there?

M 0,61

M (O) 0,70

ID 0,20



14. is the most expensive?

M 0,89

M (O) 0,65

ID 0,36



15. gives a discount for groups?

M 0,92

M (O) 0,65

ID 0,38



16. is in the town centre?

M 0,94

M (O) 0,65

ID 0,35



17. has parking?

M 0,82

M (O) 0,65

ID 0,39



18. has live music?

M 0,93

M (O) 0,65

ID 0,34



19. has been recommended by a friend?

M 0,84

M (O) 0,65

ID 0,44



20. The conference will be in the field of

M 0,72

M (O) 0,65

ID 0,28



21. The conference will last

M 0,78

M (O) 0,65

ID 0,33



22. The workshops will take place in

M 0,96

M (O) 0,65

ID 0,27



23. In the evenings, the volunteers will

M 0,71

M (O) 0,65

ID 0,45



24. The volunteers should be on duty in the 
morning at

M 0,75

M (O) 0,65

ID 0,34



25. The volunteers’ first job will be

M 0,52

M (O) 0,65

ID 0,33


